

Los Rios Community College District

Purchasing: (916)568-3071 * FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 * FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000008581

MCMASTER-CARR SUPPLY CO.

PO BOX 54960

LOS ANGELES CA 90054-0960

(562) 692-5911 Phone: (562) 695-2323 Fax:

email: la.sales@mcmaster.com

PURCHASE ORDER NO 0001117016

| Date | Revision | Page |
|------------|--------------------|-----------------|
| 08/05/202 | 1 | 1 |
| Payment Te | erms Freight Terms | Ship Via |
| NET 30 | Shipping Point | Best Method |
| Reference: | | Location / Dept |
| 1031691 W | ALLACEI ROUILLERS | 04VAPA1150 VAPA |

Ship To: FOLSOM LAKE COLLEGE

RECEIVING

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

United States

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

United States

| Tax Exempt? N | | | | | |
|---------------|------------------------------------------------------------------------------------------------------------------------------------------|--------------|----------|--------------|------------|
| Line-Sch | Item/Description | Quantity UOM | PO Price | Extended Amt | Due Date |
| 1- 1 | 4940T146 - PALLET RACK 48"X12' HEAVY DUTY PALLET RACK, UPRIGHT, 48" DEEP X 12 FEET HIGH OVERALL | 4.00EA | 220.88 | 883.52 | 08/19/2021 |
| 2- 1 | 4940T253 - PALLET RACK 108"X2-3/4"X5" HEAVY DUTY PALLET RACK, STEPPED BEAM, 108" USABLE WIDTH, 2-3/4" DEEP X 5" HIGH BEAM | 3.00 PR | 171.44 | 514.32 | 08/19/2021 |
| 3- 1 | 4940T214 - PALLET RACK 120"X2-3/4"X5" HEAVY DUTY PALLET RACK, STEPPED BEAM, 120" USABLE WIDTH, 2-3/4" DEEP X 5" HIGH BEAM | 5.00 PR | 188.53 | 942.65 | 08/19/2021 |
| 4- 1 | 44705T48 - WIRE DECKING WIRE DECKING FOR HEAVY DUTY PALLET RACK, PAINTED STEEL, 52" WIDE, FOR 48" RACK DEPTH | 6.00EA | 52.46 | 314.76 | 08/19/2021 |
| 5- 1 | 44705T49 - WIRE DECKING WIRE DECKING FOR HEAVY DUTY PALLET RACK, PAINTED STEEL, 58" WIDE, FOR 48" RACK DEPTH | 6.00EA | 55.41 | 332.46 | 08/19/2021 |
| 6- 1 | 4940T115 - PALLET RACK 30"X10' HEAVY DUTY PALLET RACK, UPRIGHT, 30" DEEP X 10 FEET HIGH OVERALL | 2.00EA | 154.93 | 309.86 | 08/19/2021 |
| 7- 1 | 4940T73 - ZINC-PLATED STEEL PALLET SUPPORT ZINC-PLATED STEEL PALLET SUPPORT, FOR 30" DEEP HEAVY DUTY PALLET RACK | 12.00EA | 14.85 | 178.20 | 08/19/2021 |

line 5 not received

Line 1-4,6&7 Paid Ch# 0094818481 09/02/21 as of 09/07/21

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

AUTHORIZED SIGNATURE ON PO TOTAL PAGE

Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Los Rios Community College District

Purchasing: (916)568-3071 * FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 * FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000008581

MCMASTER-CARR SUPPLY CO.

PO BOX 54960

LOS ANGELES CA 90054-0960

Phone: (562) 692-5911 (562) 695-2323 Fax:

email: la.sales@mcmaster.com

PURCHASE ORDER NO 0001117016

| Date | Revision | Page |
|------------|--------------------|-----------------|
| 08/05/202 | 1 | 2 |
| Payment Te | erms Freight Terms | Ship Via |
| NET 30 | Shipping Point | Best Method |
| Reference: | | Location / Dept |
| 1031691 W | ALLACEL ROUILLERS | 04VAPA1150 VAPA |

Ship To: FOLSOM LAKE COLLEGE

RFCFIVING

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

United States

Bill To: **LRCCD**

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court Sacramento CA 95825-3981

United States

Tax Exempt? N

| Line-Sch | Item/Description | Quantity UOM | PO Price | Extended Amt | Due Date |
|----------|------------------|--------------|----------|--------------|------------|
| 8- 1 | SHIPPING | 1.00EA | 577.76 | 577.76 | 08/19/2021 |

QUOTE# 16251 DATED 7/20/2021

PAID PAID DELIVERY TO PAC 1150 (SCENE SHOP)

Sub

<u>Proj</u>

Prog

FL.VI.THTR 10070 00000

0094822978 CHECK #: CHECK #: 004818481

DATE: 1-6-22 DATE: 9/2/21 FLC RECEIVING HOURS: M-TH, 10AM - 2PM

> **AMOUNT \$: AMOUNT \$:** 4041.63

VOUCHER#: 00615167 VOUCHER #: 00609156

> **Sub Total Amount** 4,053.53 269.37 4,322.90

Sales Tax Amount **Total PO Amount**

BYear

2022

0001031691CHAVEZA04-AUG-2021

Fd

Verification of this purchase order can be made using the Los Rios Community College District web site listed below. If you have any questions, please contact the Purchasing Office at (916)568-3071.

Amount

4,322.90

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.



Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Requisition

Supplier: MCMASTER-CARR SUPPLY CO.

PO BOX 54960

LOS ANGELES CA 90054-0960

United States

Phone: (562) 692-5911 **Fax:** (562) 695-2323

email: la.sales@mcmaster.com

Ship To:

RECEIVING 10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000008581

OPEN Business Unit: GENFD Date

Page Req ID: 0001031691 08/02/2021

Requisition Name:

MCMASTER-CARR SUPPLY CO.

Requester

Ian Wallace Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 02-AUG-2021

| Line-Schd | Description | Quantity | UOM | Price | Extended Amt Due Date |
|-----------|----------------------------------------------------------------------------------------------|----------|-----|--------|--------------------------|
| 1-1 | PALLET RACK 48"X12" | 4 | EA | 220.88 | 883.52 08/09/2021 |
| | HEAVY DUTY PALLET RACK, UPRIGHT, 48" DEEP X 12 FEET HIGH OVERALL | | | | |
| 2-1 | PALLET RACK 108"X2-3/4"X5" | 3 | PR | 171.44 | 514.32 08/09/2021 |
| | HEAVY DUTY PALLET RACK, STEPPED BEAM, 108" USABLE WIDTH, 2-3/4" DEEP X 5" HIGH BEAM | | | | |
| 3-1 | PALLET RACK 120"X2-3/4"X5" | 5 | PR | 188.53 | 942.65 08/09/2021 |
| | HEAVY DUTY PALLET RACK, STEPPED BEAM, 120" USABLE WIDTH, 2-3/4" DEEP X 5" HIGH BEAM | | | | |
| 4-1 | WIRE DECKING | 6 | EA | 52.46 | 314.76 08/09/2021 |
| | WIRE DECKING FOR HEAVY DUTY PALLET RACK, PAINTED STEEL, 52" WIDE, FOR 48" RACK DEPTH | | | | |
| 5-1 | WIRE DECKING | 6 | EA | 55.41 | 332.46 08/09/2021 |
| | WIRE DECKING FOR HEAVY DUTY PALLET RACK, PAINTED STEEL, 58" WIDE, FOR 48" RACK DEPTH | | | | |
| 6-1 | PALLET RACK 30"X10" | 2 | EA | 154.93 | 309.86 08/09/2021 |
| | HEAVY DUTY PALLET RACK, UPRIGHT, 30" DEEP X 10 FEET HIGH OVERALL | | | | |
| 7-1 | ZINC-PLATED STEEL PALLET SUPPORT | 12 | EA | 14.85 | 178.20 08/09/2021 |
| | ZINC-PLATED STEEL PALLET SUPPORT, FOR 30" DEEP HEAVY DUTY PALLET RACK | | | | |
| 8-1 | SHIPPING | 1 | EA | 577.76 | 577.76 08/09/2021 |

4,053.53 Sub-total 314.15 Est. tax

Total Requisition Amount: 4,367.68

Quote #16251 Date 7/20/2021 Delivery to PAC 1150 (Scene Shop)

| Approval Signature | Approval Signature | Approval Signature |
|--------------------|--------------------|--------------------|
| | | |

Requisition

Supplier: MCMASTER-CARR SUPPLY CO.

PO BOX 54960

LOS ANGELES CA 90054-0960

United States

email: la.sales@mcmaster.com

Ship To: RECEIVING

10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000008581

Business Unit: GENFD OPEN
Reg ID: Date

 Req ID:
 Date
 Page

 0001031691
 08/02/2021
 2

Requisition Name:

MCMASTER-CARR SUPPLY CO.

Requester

Ian Wallace

Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: SAATIA 02-AUG-2021

Line-Schd Description Quantity UOM Price Extended Amt Due Date

 BU
 Acct
 Fd
 Org
 Prog
 Sub
 Proj
 Amount

 GENFD
 4300
 12
 FL.VI.THTR
 10070
 00000
 700P
 4,053.53

Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: Lottery Project Grant: 700P

Program Director: Francis Fletcher

Program Goal: Theatre Arts Instructional Supply

| Approval Signature | Approval Signature | Approval Signature |
|--------------------|--------------------|--------------------|
| | | |



Quotation

562-692-5911 562-695-2323 (fax) la.sales@mcmaster.com

10 College Parkway Folsom CA 95630 Quote 16251 Date 7/20/21

| Line | Product | Quantity | Available | Price | Total |
|---------------|----------------------------------------------------------------------------------------|------------|------------------------------|--------------------|------------|
| 1 4940T14 | Heavy Duty Pallet Rack, Upright, 48" Deep x 12 Feet High Overall | 4 each | today (ships via freight) | 220.88 each | 883.52 |
| 2 4940T25 | Heavy Duty Pallet Rack, Stepped Beam, 108" Usable Width, 2-3/4" Deep x 5" High Beam | 3 pairs | today (ships via freight) | 171.44 per pair | 514.32 |
| 3 4940T21 | Heavy Duty Pallet Rack, Stepped Beam, 120" Usable Width, 2-3/4" Deep x 5" High Beam | 5 pairs | today (ships via freight) | 188.53 per pair | 942.65 |
| 4 44705T4 | Wire Decking for Heavy Duty Pallet Rack, Painted Steel, 52" Wide, for 48" Rack Depth | 6 each | today (ships via freight) | 52.46 each | 314.76 |
| 5 44705T4 | Wire Decking for Heavy Duty Pallet Rack, Painted Steel, 58" Wide, for 48" Rack Depth | 6 each | today (ships via freight) | 55.41 each | 332.46 |
| 6 4940T11 | Heavy Duty Pallet Rack, Upright, 30" Deep x 10 Feet High Overall | 2 each | today (ships via freight) | 154.93 each | 309.86 |
| 7 4940T73 | Zinc-Plated Steel Pallet Support, for 30" Deep Heavy Duty Pallet Rack | 12 each | today | 14.85 each | 178.20 |
| Merchandise p | rices good through 8/19/21. | | Me | erchandise | \$3,475.77 |
| | | | | Shipping | 577.76 |
| | | | | Tax | 269.37 |
| | | | | Total | \$4,322.90 |



Packing List

9630 Norwalk Blvd Santa Fe Springs CA 90670-2932 562-692-5911 la.sales@mcmaster.com

Los Rios Community College District Folsom Lake College 10 College Pkwy Folsom CA 95630-6798 Attention: Receiving

Purchase Order 0001117016

Suzanne Rouiller

Order Placed By

McMaster-Carr Number 3177130-01

Page 1 of 1 08/05/2021

| Line | | Product | Ordered Shippe | d |
|------|-----------------------|------------------------------------------------------------------------------------------------------------------------------------------|----------------|-------------|
| 3 | 4940T214 | Heavy Duty Pallet Rack, Stepped Beam, 120" Usable Width, 2-3/4" Deep x 5" High Beam | 5 Pairs | 5 🗸 |
| Ship | ped separa | ately from our Los Angeles warehouse on 08/05 | | |
| 1 | 4940T146 | Heavy Duty Pallet Rack, Upright, 48" Deep x 12 Feet High Overall | 4 / A | 4 🗸 |
| 2 | 4940T253 | Heavy Duty Pallet Rack, Stepped Beam, 108" Usable Width, 2-3/4" Deep x 5" High Beam | 3 V | 3 / |
| 4 | 44705T48 | Wi <mark>re Decking for Heavy Duty Pallet Rack, Painted</mark> Steel, 52" Wide, for 48" Rack Depth | 6 / Each | 3 / |
| 6 | 4940T115 | Heavy Duty Pallet Rack, Upright, 30" Deep x 10 Feet High Overall | 2 V 2 | 2 / |
| 7 | <mark>1940T7</mark> 3 | Zinc-Plated Steel Pallet Support, for 30" Deep Heavy Duty Pallet Rack | 12 12 Each | 2 🗸 |
| Expe | cted to shi | ρ | | |
| 5 4 | 14705T49 | Wire Decking for Heavy Duty Pallet Rack, Painted Steel, 58" Wide, for 48" Rack Depth - Room Pointed Steel, 58" Wide, for 48" Rack Depth | 6 6 Each | 3 Aug 13-26 |

PO#000 1117 016

PCNR #000 109 7595

3 | 12 | 21 Berba